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[2R2] A=Y
00606

A B C D E F a H I f] K L M N a
1
2 | [E1
s [ #nds e ] Lol [+3X5E[+SNed [ HuAY | olgds olgazt  [ojgdFE | Fomg|] suuaa || Zaegs 716t
4 AB952 Atgjel o 67 1 =M | 2HEES 4 40 Fd 400,000 400,000 || EEoy
5 B6891 SHEf= = 84 3 iyt HESE i 4 Fe 40,000 32,000 8,000
5 A3T1T7 o[ Al of 74 2 7|Et BIEZtS 7 35 EE 350,000 315,000 35,000
7 8576 axjg o 79 3 7|Et thlEs 3 18 e 180,000 162,000 18,000
8 D4273 ] o 81 5 et HEag 4 24 He 240,000 192,000 48,000 e
] AI67Y 0| o 93 1 Mg | geis 4 28 By 280,000 280,000 - oy
10 D7978 Of5=4 ) 64 5 7|Et thr7Es 2 12 gy 156,000 140,400 15,600 x| o
11 5822 C=2o o 20 4 ut gess 2 12 gy 156,000 124,800 31,200
12 D3886 SEj ot 93 4 st S27E 4 24 0f 288,000 230,400 57,600
13 AB240 o= e 50 2 7|E} Hozts 3 18 Y 180,000 162,000 18,000
14 D1787 =23 of o5 1 st SHESS 3 27 EE 270,000 216,000 54,000
15 A1495 25 b 65 1 JizMg | YEis 5 20 sy 200,000 200,000 || Eelthy
% D1971 Zolg 9 73 5 Zixdg | HilEs 7 59 0ok 650,000 500,000 150,000 Al of
17 D4877 AT o 82 1 71Et Mo 6 54 A0 548,000 583,200 64,800
18 AT371 4EH =) 51 2 7|Et Sogs 2 16 Aot 192,000 172,800 19,200
19 B7149 Hafl o 83 1 Ji=Me | HEey 1 4 gy 40,000 40,000 - oy
20 1749 2Eig o 56 1 EN T 6 54 HY 540,000 540,000 || Eeoha
21 A9810 NEE o 89 2 a8t Sa7ts 6 36 = 360,000 288,000 72,000
23 3897 Aol = 88 5 =gy | HEaY 7 28 FZ 364,000 364,000 - Aoy
2 D1595 2 H0| o 5 it BHE Q oF 2 8 B 104,000] 83,200 20,800 A0
24 A6220 2= o 89 3 UES = i 4 A0k 48,000 48,000 -
25 D6798 #=g e 53 1 ZI=NE | Y28y 5 45 e 585,000 585,000 || By
26 A1899 Hels o 53 4 7|Et tr7Es 1 8 By 80,000 72,000 8,000
27 D6171 oy o 77 1 2l gogg 7 70 By 700,000 560,000 140,000
28 3852 Lhlgt o 85 3 7|Et th7les 5 40 gy 520,000 468,000 52,000
20 A5662 245 o 79 5 st 7= 2 16 £ 0f 192,000 153,600 38,400 x| 0f
30
31| [H2] Hee [H3] 2QEEHIZ [E4] €%
2 [53 | 558 | 48& [ 38= | 288 | 15& | +aitee | =dsdHE S8 |Teaudd|ciaddd| Ss4EH
33 [Hoteol | 500,000 | 600,000 | 700,000 | 800,000 | 900,000 | 2t 20% 5 54,200 57,300 52,100
34 7|Et 10% 4 48,200 52,300 49,000
35 HETE 0% 3 45,200 47,000 44,200
36 | [E5] sBASSE MUIAHS olgolso| 3t 2 45,200 47,000 44,200
7| (252 #=zad sloeg [gogis | oh7Es [E6] L0 Bz | 45,200 47,000 44,200
38 58T 13 0 0 11 Lo
39 452 0 2 4 1 504~ 644
40 358 1 1 0 8 554~ 744
41 s= 0 2 16 0 754~ 84A
42 5= 12 20 9 0 85M -~ 100 ||=
43
44 | [#7]
45 [ #xds | EzAE [saAss]08gx]] =20
46 D347 HEQYHSY 1 271,200
&7 A7367 | ZSHEIPY 2 86,400
43 B4549 | FEaugd 1 45,200
40 3949 | =Plagge 1 282,000
50 Ag670 | THEegEE 2 271,200
51 C4397 | FELYHE 5 379,400
52 A2345 | SEUEEIHE 4 49,000
53 D3432 | oladg 1 329,000
54 4572 | coauyd 3 235,000
53 343 | olaggsl 7 324,000
54 4572 | celaggs 3 235,000
55 A3421 | =Rlagge 2 141,000

1. FEEFFM4L) : =IF( L4=( 1-VLOOKUP(G4,$1$33:$J$35,2,FALSE) )>HLOOKUP(F4,$C$32:$G$33,2,
FALSE), HLOOKUP(F4,$C$32:$G$33,2,FALSE), L4x( 1-VLOOKUP(G4, $I$33:$J$35,2,FALSE) ) )

2. FEASFE Anj2dE o] &d59) F(C38) : {=SUM( IF( ($F$4:$F$29=$B38) * ($H$4:$H$29=C$37),
$I$4:$1$29 ) )}

3. Yo)d W=4(J39:J42) : {=REPT( “m”, FREQUENCY(E4:E29,139:142) )}
¥* AAghs ¥AS [J39:J42] 998 E502 Qs & FAS AL,

4. fn7)EH(04) : =fn7)EHF4,G4)
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Private Sub cmdA]®H] 22417 _Click()
28] =413 Show
End Sub

L E 2718 meAA

Private Sub UserForm_Initialize( )
cmb4= 3 A3 RowSource = “J5:J7”
cmbA]H] 2~ RowSource = “J10:J13”
opt? = True

End Sub

@ AA "ol 7 TN
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Private Sub cmd2!%_Click( )
A= 3d = [B3].Row + [B3].CurrentRegion.Rows.Count
Cells(d8 3, 2) = txtSAHZ Value
Cells(18 3, 3) = txto]&.Value
If opt'e.Value = True Then
Cells(d9¥3y, 4) = “F=}”
Else
Cells(49 3, 4) = “o=}”
End If
Cells(fd5 ¥, 5) = txtt}e].Value
Cells(18 3, 6) = txtFa5A55.Value
Cells(9 ¥, 7) = cmbg 3 A3 . Value
Cells(fd5 3, 8) = cmbA{H] 22" Value
End Sub

© @7 EFel s FAs]

Private Sub cmd@7”]_Click( )
MsgBox Date, , “Z%8”
Unload Me

End Sub
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